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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question.

1 1. x3+2x+1=0 has the solutibn _‘:;_._*,:—J ¥ .\72+2x+l=0 9 1
{1} ©) {0} © -1 ® L7} @
2 The number of rows and columns in a matrix -:ré)}tﬁ 51 LJUJ;JJQ:)K Ayl 2

determine its

determinant vl (D) order 7 (C) columns Hb’ (B) rows J.E (A)

3. A matrix consisting of only one row is called a -q.t‘Ll;-CthB'.ﬁJM‘f.._JG -3
column matrix .._Jmf ¥ (B) row matrix TS (A)
scalar matrix _.)G'/-"c (D) identity matrix -/ E’JIBL} Ved (€)

4 The angle bisectors of a triangle are gLl il s 4

non concurrent 5% /# (D) perpendicular (% =7(C) collinear 4% (B) concurrent Fp L HL (A

5. A straight angle contains -0 Kﬁsu -5
360° D) 90° (©) 270° (B) 180° (A)

6. Volume of a cube with edge /" _is e a,tJ’KU’T(fKJ_{l -6
r ©) * © A ® I o®w

7. Points lying on the same line are called -u_?.i.'..!k"la'g!:;bﬁ..{l -7

overlapping J”-p (D) equal i+ (C) collinear kl‘éb(‘- (B) non collinearb‘(?/f (A)

8. (a+b)?—(a-b)=2 ¢=(a+b)’ —(a~b)" -8
a+b’ (D) - 4ab ©) 2a’ +b%) ®) 4ab (B
9. a +3ab(a+b)+b’ =7 ¢= a& +3ab(a+b)+b’ _g
a+b (D a -y ©) (a+b) ® (a-b) @)
10. Factorization of (¥+3)"—4 is e f § (x+3) =4 210
(x-D(x=3) @) (+DE+5 @ (x+DE-5) ® x-Dx+5) (a)
11.1f P(x)=x" =27 +5x+1 s divided by X —1 e P(x)=x"=2x* +5x+1 Ji _11
then P(1)= €xP(1)
5 (D) 0 (©) EP (8 -5 (A)
12. Solution setof |X—3[=5 is o) ¥ |x=3|=5 _12
{-8.2} ©) 820 (© 821 @ 82 @
13. For each number " * " absolute value of x is denoted by -‘Lt‘/‘quf..—,»f&"b" X % 5213
0 ©) A © —x ®) x @)
14. HCF of 6pgr and 15¢rs is -q_,)i’r A g 6par i 15grs 44
3aqr (D) 15pars ©) 3pars (B) Spar (A
15. Solution setof X’ —=9=0 is eer F¥ X =920 15
B o {£3) © {9 ® {9 »w
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Note :- Section I is compulsory. Attempt any three (3) questions from Section II.
Section | - Jil.» L
2 Write short answers to any Six parts : (6x2=12) :a.{;/.:-.yz/‘fﬁflzi‘ga.éf 2

i T P(x) =2x’+2x7+x-1 thenfind P(-2). SEP P2 T Px) =257+ 2 +x-1 f

ii. Define rationalizing factor. ' _i:_éy;’.g(;__}/" 22 O i

i, Simplify expression V2 + v/8 V2 -8 e e i

iv. Define cubic polynomial. _.QL-’_;»/TJ;;{; /g{dljz__.,:.‘gf -iv

v. Facatorize ~ 36d” -1 36d>-1 _£yf v
P(x) =x* =10x" +25x =2 ; prgpusi i 2385 i

Evaluate the polynomial for the value indicated P(X) =x* —10x" +25x-2 . P(-4)

vi.

vii. Write the name of methods o find H.C.F. _é:‘frcéw'%/"z:i_/?:"” (Ml Sk —vii
viii. Find H.C.F by factorization. 8xy’z , 12x'y*7 _érsl"(yf sodl LS it
ix. Find L.C.M by factorization X +64, x'-16 _ “Ep LCM $fak _ix

3. Write short answers to any Six parts : (6x2=12) Sz 23
i. Solve Vx+4=7 ZES
ii. Solve Bx+4]=9 Ay |
iii. Define linear equation. &y FSan i
iv. Write two methods to solve quadratic equation. _ u_"_gr':&:u;é’) 0l & S W atlaBss » iv
v. Factorize : Sx=x7+6 Z8E v
vi. Solve 2" =3x ES i
vii. Define rectangular and square matrices. LI B i
viil. “Find x and ¥ if Lx—? 3}}14] = {-23 ;J Npbr vy x i
u v .
X- Find determinant of L J} s X
4 Write short answers to any six parts : (6x2=12) -&::.le/i?ﬁorzfgaaf -4
i. Define Minor Arc. E A
ii. Define sector of a circle. AR i
iii. What do you mean by supplimentary angles? ' Se st gty Gk _iii
iv. Define altitude of a triangle. : Sl s iy
v. Define incentre. _ ‘elpladr ¥ Ly
vi. Find the volume of a cube whose every edge is 8 cm. -5 8 .-;b&(;f-ép*’jf'{gfél Vi
vii. Define Hemisphere. LEE P59 i
viil. What do you mean by abscissa and ordinate? 'e‘.._/_:f/yf:..:.;':jﬂ AL yiii
ix. Find distance between (7 , -2) and (-2 , 3). SEE el (-2,3) 4 (T,-2) -ix
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Section -l (2

(uA ®) 27 Ly )_ié’,-:‘:al'iﬁﬁauwwfa.éf (o

Note: Attempt any three questions. Each question carries Eight (8) marks.
5.(a)  Find the value of g’ +b* and ab a-b=3sa+b=5.4 éﬁ"" =dS aba a?+b* @75

whena+b=5anda-b=3

2 2 1eR2 .
(b)  Resolve into factors. ¥ +6ax +90° 164 &kl 0z (b)
4 1 3 2
6.(a)  Find square root of 4x"+12x° +25x" +24x+16 e Y (a)e
(b) Solve 3(x+5)>2(x+2)+8 -z (b)
2 T ; 2 5
7.(a)  Solve by completing the square method. 2x°=6x+3=0 ~éf¢--‘§{/”£d/’gkﬁ (a)-7
(b) Construct a square whose one side is 3.5 cm. __ 5735 (’f’f{u’""@.—-&&/bg (b)
1 3] 4.7 13 4 7
8. (a) _ % s - - (a)-8
If A_,[4 5J ’B“ [6 SJ then prove that fé&b‘!n’i_L Sjl . B= !:6 5} ),;
A+ B =B+A A+ B =B+A
(b) Use Cramer's rule to solve the simultaneous equations 2SI e 3 AL A/_ (b)
X+2y=3 - | Xx+2y =3
X+3y=5 ; : X+3y=5
9. (a) Find the volume of a sphere with radius 3.5 cm. . 25535 S § ;ﬁ’_é_(}”z&_fug (a)-9
(b) Show that the points A (5 , 3) , Bl el il (IC (4,2) 4B (-2,2) | A(5,3) S =ik (b)

B (-2 ,2)and C ( 4, 2) are vertices of a scalene triangle.
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